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Section : Part-A-General Intelligence and Reasoning

Q.1 In a code language, 'dark colors’ is coded as 'yu nu’, ‘days are bright' is coded as 'wu

tu ku’, 'nights are dark’ is coded as 'ku nu pu’, 'paint bright' is coded as 'wu ru'. What is
the code for the word 'nights'?

Ans X 1.nu
o 2. pu
X 3.yu
X 4. ku

Question ID : 26433082275
Status : Answered
Chosen Option : 2

Q.2 Select the option that is related to the fifth letter-cluster in the same way as the second

letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

FVL: MXI:: PCJ: KES :: DKN : ?
Ans X 1.PMH

X 2.PNH
" 3. OMG
X 4.ONG
Question ID : 26433057889
Status : Answered
Chosen Option : 3
Q.3 If “+’ means ‘+’, ‘" means ‘+’, ‘x’ means ‘ - * and ‘+’ means ‘x’, what will be the value of

the following expression?
[{(49%x12)-(6+2)}+(4-3)]*5
Ans X 1.10
o 2.35
X 3.2

X 4.1

Question ID : 26433086259
Status : Answered
Chosen Option : 2




Q.4

Ans

In a certain code language,

‘A + B’ means ‘A is the brother of B’,
‘A — B’ means ‘A is the mother of B’,
‘A x B’ means ‘A is the father of B’ and
‘A + B’ means ‘A is the son of B’.

If Px QxR+ D+ S - B, then which of the following statements is NOT correct?

< 1.Ris B’s brother.

X 2.Qis B’s father.

" 3. P is B’s mother’s father.
< 4.Ris P’s son’s son.

Question ID : 26433070374
Status : Answered
Chosen Option : 3

Q5 Select the correct mirror image of the given pattern when the mirror is placed at

Ans

MN as shown.
1

9parTIALS
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Question ID : 26433082902
Status : Answered
Chosen Option : 1




Q.6 Select the option figure in which the given figure is embedded as its part (rotation

is not allowed).

Ans

.Q_\
X2
AN
X 3.

/ \
X 4.

Question ID : 26433069539

Status : Answered

Chosen Option : 1

Q.7 Which letter-cluster will replace the question mark (?) to complete the given series?
ETAX, FRDT, GPGP, ?, ILMH

Ans 1 HNJL
X 2. HWJI
X 3. HNKM
X 4. HVNI

Question ID : 26433068573

Status : Answered

Chosen Option : 1




Q.8 Which of the following numbers will replace the question mark (?) in the given series?
9, 35,91, 189, 341, ?

Ans X 1.1210
X 2.497
& 3. 559
X 4.713

Question ID : 26433082001

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.9 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.
BELF, WZTN, RUBYV, ? , HKRL

Ans X 1.MGDV
X 2.TILS
X 3.TBDE
o 4. MPJD

Question ID : 26433074755
Status : Answered
Chosen Option : 4

Q.10 Select the option that is related to the fourth term in the same way as the first term is
related to the second term and the fifth term is related to the sixth term.
6:109 :: ?:257:: 10 : 501

Ans 1.8
X 2.12
X 3.1
< 4.9

Question ID : 26433069088

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.11 Five people E, F, G, H and | are sitting in a straight row, facing north. There are only
three people sitting to the left of H and only three people sitting to the right of F. E sits
on the immediate left of F and only two people sit on the left of G. Who is sitting on the
extreme right end of the row?

Ans X 1.G
o 2.1
X 3. F
X 4.E

Question ID : 26433056048
Status : Answered
Chosen Option : 2




Q.12 Which of the following numbers will replace the question marks (?) in the given
series?
119, 117, 114, 109, ?, 91, ?, 61

Ans X 1.100, 74
X 2.107, 68
X 3.101,80
W 4.102,78

Question ID : 26433070223
Status : Answered
Chosen Option : 4




Q.13

Ans

The following figures show the sequence of folding a piece of paper. The last figure shows

the manner in which the folded paper has been cut. Select the figure which would most

closely resemble the unfolded form of the paper.

G
PR

2
A

Y
2SS
x4 @Q

9®

Question ID : 26433087094
Status : Answered
Chosen Option : 3




Q.14 Three statements are given followed by three conclusions numbered I, Il and Ill.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

All gels are boats.

All pumps are boats.

All boats are ships.
Conclusions:

I. All pumps are ships.

1l. All ships are gels.

1l. Some ships are pumps.

Ans X 1. Only conclusions | and Il follow
/< 2. All conclusions follow
& 3. Only conclusions | and Il follow

X 4. Only conclusions Il and 1l follow

Question ID : 26433082305
Status : Answered
Chosen Option : 3

Q.15 Which of the mathematical signs should be interchanged in the below equation to
make it mathematically correct?
17+112+16 -8 x 64 =175

Ans X 1.+and x
K 2.+and =+
¥ 3. +and x
K 4. +and-

Question ID : 264330117527

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.16 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 eagle
2 eager
3 eastern
4 earth
5 earring

Ans X 1.25134
X 2.25143
o 3.21543
X 4.21534

Question ID : 26433069316
Status : Answered
Chosen Option : 3




Q.17 Select the option that is related to the third word in the same way as the second word

Ans

is related to the first word.

(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the

word)
New Delhi : India :: Kyiv : ?

/< 1. Russia

75 2. Mongolia
25 3. Moldova
" 4. Ukraine

Question ID : 26433079477
Status : Answered
Chosen Option : 4

Q.18 Select the figure from among the given options that can replace the question

Ans

mark (?) in the following series.

® X
Dy

K _ . ®

S

?

o
e
12

Question ID : 26433080493
Status : Answered
Chosen Option : 1




Q.19 Six students Kabir, Messi, Ronaldo, Sharon, Raj and Moosa are sitting around a
circular table facing the centre. Moosa is sitting second to the left of Sharon. Kabir is
sitting second to the left of Moosa. Ronaldo is sitting to the immediate left of Kabir. Raj
is sitting to the immediate left of Moosa. Messi is an immediate neighbour to Sharon
and Moosa. Who is sitting between Ronaldo and Messi?

Ans X 1.Raj

75 2. Moosa
X 3. Kabir
" 4. Sharon

Question ID : 26433081786
Status : Answered
Chosen Option : 4

Q.20 In a code language, 'MORBID' is written as ‘61’ and ‘PARIAH’ is written as ‘53’. How will
'RAVISHED' be written in that language?

Ans X 1.85
o 2.86
X 3.88
X 4.96

Question ID : 26433068937
Status : Answered
Chosen Option : 2

Section : Part-B-General Knowledge and General awareness

Q.1 Bank rate is the rate at which:
Ans X 1. Central Bank borrows loan from Government

< 2. Commercial banks lend loan to Central bank
< 3. Commercial banks lend loan to Government

& 4. Central bank lends loan to commercial banks.

Question ID : 264330115314

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.2 The term Stumping is related to which of the following sports?
Ans 1. Cricket

< 2. Baseball
75 3. Tennis
< 4. Basketball

Question ID : 264330116269
Status : Answered
Chosen Option : 1




Q.3 Who among the following was elected as Member of Rajya Sabha from Himachal
Pradesh, India in March 20227

#< 1. Jitendra Singh
< 2. K. G. Kenye

Ans

< 3. Oommen Chandy
&* 4. Sikander Kumar

Question ID : 264330114947
Status : Not Answered
Chosen Option : --

Q.4 Which term did Robert Hooke coin when he observed slices of cork, under a simple

magnifying device?
< 1. stall
< 2. brick
25 3. jail
o 4. cell

Ans

Question ID : 264330115234
Status : Answered
Chosen Option : 4

Q.5 What is the name of Arunachal Pradesh'’s first greenfield airport?
Ans X 1. Kalyani Airport

< 2. Rajkot Airport
& 3. Donyi Polo Airport
Z5 4. Sindhudurg Airport

Question ID : 264330115561
Status : Not Answered
Chosen Option : --

Q.6 Which is one of the bi-product formed when sodium sulphate reacts with barium
chloride?

Ans " 1. Sodium chloride
75 2. Barium oxide
75 3. Barium hydroxide

75 4. Sodium oxide

Question ID : 26433091478
Status : Not Answered
Chosen Option : --




Q.7 Which of the following folk-dance forms is NOT predominantly performed in the Indian

state of Maharashtra?

Ans X 1.Tamasha

" 2. Rouff

X 3. Lavani

X 4. Koli

Question ID : 26433071485
Status : Not Answered
Chosen Option : --

Q.8 Industrial development is a precondition for of unemployment.
Ans X 1.acceleration

«” 2. eradication
#< 3. encouragement

75 4. addition

Question ID : 264330115411
Status : Not Answered
Chosen Option : --

Q.9 Before being elected as the 15th President of India, Draupadi Murmu was the Governor

of which of the following states?
2 1. Orissa

< 2. West Bengal

Ans

&* 3. Jharkhand
X 4. Bihar

Question ID : 264330115017
Status : Answered
Chosen Option : 2

Q.10 Sharad Purnima is associated with the Goddess
25 1. Gauri

X 2. Parvati
X 3. Sita
o 4. Lakshmi

Ans

in some parts of India.

Question ID : 264330115123
Status : Not Answered
Chosen Option : --




Q.11 How many rulers of Dakshinapatha were defeated by Samudragupta?
Ans X 1.3

% 2.10
o 3. 12
X 4.8

Question ID : 26433085219
Status : Not Answered
Chosen Option : --

Q.12 Who was the first Indian to receive the medal and Diploma of the French association
Archives Internationales de la Danse?

Ans X 1. Amala Akkineni
&* 2. Mrinalini Sarabhai
X 3. Jatin Goswami

< 4. Alarmel Valli
Question ID : 264330115855
Status : Not Answered
Chosen Option : --
Q.13 and formed the Swaraj Party within the Congress to argue for

a return to council politics.
Ans ¢ 1. Chittaranjan Das and Motilal Nehru

#< 2. Chittaranjan Das and Jawaharlal Nehru
< 3. Lokmanya Tilak and Motilal Nehru
/5 4. Lokmanya Tilak and Jawaharlal Nehru

Question ID : 26433090586
Status : Not Answered
Chosen Option : --

Q.14 In badminton singles, at the beginning of the game (0-0) and when the server’s score
is even, the server serves from which side of the court?

Ans X 1.Any service court
75 2. Cannot serve
«" 3. Right service court
< 4. Left service side

Question ID : 264330115927
Status : Not Answered
Chosen Option : --




Q.15 Although there was a category of industries left to the private sector, the sector was
kept under state control through a system of licenses. No new industry was allowed

Ans

unless a license was obtained from the government.
The above lines are about which of the following?

o 1.IPR-1956
X 2.1PR-1952
X 3.1PR-1951
X 4.1PR-1958

Question ID : 26433054775
Status : Not Answered
Chosen Option : --

Q.16 According to the 2011 Census of India, the state of Bihar was the

Ans

populated state of India .
25 1. fifth

5 2. fourth
X 3.second
& 4. third

most

Question ID : 264330116064
Status : Not Answered
Chosen Option : --

Q.17 According to which of the following Articles of the Constitution of India can the

Ans

Supreme Court review its own judgements or orders?
«" 1. Article 137

% 2. Article 134
X 3. Article 147
% 4. Article 120

Question ID : 26433086839
Status : Not Answered
Chosen Option : --

Q.18 Make in India scheme was launched by Government of India in year

Ans

X 1.2019
o 2.2014
X 3.2018
X 4.2016

Question ID : 264330116201
Status : Not Answered
Chosen Option : --




Q.19 What does Part IVA of the Indian Constitutions deal with?
Ans X 1. Fundamental Rights

75 2. Directive Principles of State Policy
#< 3. Moral Duty of Police
& 4. Fundamental Duties

Question ID : 264330115632
Status : Not Answered
Chosen Option : --

Q.20 Which rocks are formed from solidification and cooling of magma?
Ans X 1. Chemical Sedimentary Rocks

75 2. Metamorphic rocks
X 3. Sedimentary rocks
& 4. Igneous rocks

Question ID : 264330115997
Status : Not Answered
Chosen Option : --

Section : Part-C-Elementary Mathematics

Q.1 Tina puts Rs. 48000 in a bank account. She takes it out 6 years later, it is now worth
Rs. 60000. The percent increase is:

Ans X 1.12 percent
o 2. 25 percent
< 3. 28 percent
X 4. 22 percent

Question ID : 264330116805
Status : Not Answered
Chosen Option : --

Q.2 |If the price of petrol is increased by 25 percent, then how much should a person
decrease the consumption to keep the expenditure same?

Ans  #* 1. 20 percent
< 2. 18 percent
< 3. 23 percent
75 4. 21 percent

Question ID : 26433079849
Status : Not Answered
Chosen Option : --




Q.3 A shopkeeper buys some fruits at a discount of 10% on the marked price. For selling
the item he increases the marked price. If he wants to get a profit of 25% after allowing
a discount of 15%, then by what percentage should his marked price be greater than
the original marked price? (Correct to a nearest whole number)

Ans  # 1.32 Percent
< 2. 25 Percent
< 3. 15 Percent
X 4.10 Percent

Question ID : 26433081569
Status : Not Answered
Chosen Option : --

Q.4 The average age of a certain number of students in a college club is 20 years. Later, 27
new students, whose average age is 22 years, joined the club. 12 students, whose
average age is 19 years, left the club. As a result of this change, the average age of all
the students increases by 2 years. What is the present number of students in the club?

Ans X 1.15
K 2.25
X 3.42
W 4.33

Question ID : 26433081064
Status : Not Answered
Chosen Option : --

Q.5 What is the length of the longest pole that can be placed in a room 12 m long, 8 m
broad and 3 m high (correct up to 2 decimal places)?

Ans X 1.18.36m
X 2.2058m
o 3.1473m
X 4.16.25m

Question ID : 26433083062
Status : Not Answered
Chosen Option : --

Q.6 20 women can finish a piece of work in 16 days and 16 men can finish it in 15 days.
What is the ratio of the working efficiency of a man and a woman?

Ans X 1.3:2
X 25:4
o 3.4:3
X 4.6:5

Question ID : 26433080363
Status : Not Answered
Chosen Option : --




Q.7 An overcoat is sold for Rs.1,260 at successive discounts of 16% and 25%. Find the

Ans

marked price of the overcoat.

2 1.Rs.1,900
% 2.Rs.1,800
% 3.Rs.2,100
& 4. Rs.2,000

Question ID : 26433082974
Status : Not Answered
Chosen Option : --

Q.8 A hemispherical bowl is made of thick steel, whose thickness is 0.50 cm. If the outer

Ans

diameter of the bowl is 43 cm, then the volume of the bowl is:
& 1.19404 cm®
X 2.87318 cm®
X 3.58212 cm?®
7 4.29106 cm?®

Question ID : 26433072978
Status : Not Answered
Chosen Option : --

Q.9 The cost price of 1 kg of sugar is Rs.50. A shopkeeper sells it at Rs.55 per kg. In order
to raise his profit, the shopkeeper weighs only 900 grams in place of 1 kg. Determine

Ans

the percentage profit (Approximate) earned by the shopkeeper.

X 1.28%
X 2.12%
X 3.10%
o 4.22%

Question ID : 26433071313
Status : Not Answered
Chosen Option : --

Q.10 A girl walks to a park situated 350 m from her house. It took her 3 mins to reach the

Ans

park and 4 mins to return. What is the average speed of the girl (in km/h)?

X 1.4km/h
X 2.65kmh
o 3.6 kmh
X 4.5km/h

Question ID : 26433080365
Status : Not Answered
Chosen Option : --




Q.11 P and Q together can complete a work in 21 days. Q alone can complete it in 84 days. If
efficiency of Q becomes double, then in how many days approximately will P and Q

together complete the work?
Ans X 1.40 days

< 2.37 days
" 3. 17 days
/< 4.33 days

Question ID : 264330116885
Status : Not Answered
Chosen Option : --

Q.12 2 numbers differ by 9 and their product is 2430. Find the HCF of the numbers.

Ans X 1.12

2.9
X 3.3
X 4.6

Question ID : 264330116664
Status : Not Answered
Chosen Option : --

Q.13 Which relation is correct for 6 : 11 and 8 : 9?

Ans X 1.6:1128:9
X 26:11=8:9
X 36:11>8:9
W 4.8:9>6: 11

Question ID : 26433074930
Status : Not Answered
Chosen Option : --

Q.14 Ifa+b:b+c:c+a=2:3:5anda+b +c =20, then the value of c is:

Ans X 1.10
X 2.2
o 3. 12
X 4.5

Question ID : 26433073022
Status : Not Answered
Chosen Option : --




Q.15 The least multiple of 7, which leaves a remainder of 4, when divided by 6, 9, 15 and 18
is:

Ans  # 1.364
< 2.357
< 3.371
& 4.350

Question ID : 26433082348
Status : Not Answered
Chosen Option : --

Q.16 4 man rows his boat 525 m in 250 seconds along the stream and returns in Ti minutes, The rowing speed in still water
(in km/h) is:

Ans  # 1.5.88 km/h

X 2.6.66 km/h

75 3.5.42 km/h

< 4.4.88 km/h

Question ID : 26433074997
Status : Not Answered
Chosen Option : --

Q.17 If the difference between the compound interest, compounding annually and the
simple interest on a certain sum of money at 5% per annum for 3 years is Rs.183, then

what is the sum of money invested?
Ans X 1.Rs.20,000

2. Rs.28,000
o 3. Rs.24,000
2 4.Rs.16,000

Question ID : 26433075686
Status : Not Answered
Chosen Option : --

Q.18 A deposited a total of Rs.25,500 in a bank in the names of his grandsons P and Q who
are presently 13 years and 14 years old, respectively. He divided his money in such a
way that they get equal amounts upon attaining the age of 25 years. If the bank gives
interest at a rate of 4% p.a. compounded annually, then how much has been deposited

in Q’s name?
Ans X 1.Rs.12,000

X 2.Rs.14,000
& 3. Rs.13,000
X 4.Rs.12,500

Question ID : 26433065290
Status : Not Answered
Chosen Option : --




Q.19 The speed of a boat along and against the current are 16 km/h and 12 km/h,
respectively. The speed of the current is:

Ans  # 1.2 km/h
< 2. 14 km/h
2 3.8km/h
& 4.6km/h

Question ID : 26433066318
Status : Not Answered
Chosen Option : --

Q.20 A person buys 15 pens for ¥100, and sells them at 13 pens for ¥100. What is the gain
percentage?

Ans 4
x1.13 13 percent

3
X 2. 13— percent
13
v3 15> t
15 percen

3
x4 15 73 Percent

Question ID : 26433079862
Status : Not Answered
Chosen Option : --

Section : Part-D-English

Q.1 Select the most appropriate synonym of the word given in brackets to fill in the blank.
The supervisor is (ruthless) in his behaviour with the workers.
Ans ¥ 1. merciless
X 2. senseless
75 3. shameless

X 4. careless

Question ID : 26433070463
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate synonym of the given word.
Esteem
Ans X 1.Excuse
5 2. Abuse
/< 3.Ridicule
" 4. Respect

Question ID : 26433074046
Status : Answered
Chosen Option : 2




Q.3 Select the most appropriate meaning of the underlined idiom in the given sentence.

It is hard to believe that many smokers didn’t go cold turkey even after they got lung
cancer.

Ans X 1. Losing sensory inputs
< 2. Dead
& 3. Quite addictive or dangerous behaviour

X 4. Withered

Question ID : 26433072088
Status : Answered
Chosen Option : 3

Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Her bookstore flourished / because / she picks / a good location.
Ans X 1. Her bookstore flourished

75 2. because
#< 3. agood location
¥ 4. she picks

Question ID : 26433088095
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate ANTONYM of the underlined word to fill in the blank.

Welter was an honest worker, whereas Rodriguez was
Ans X 1.erupt
X 2. timid
¥ 3. corrupt
X 4. candid

Question ID : 26433091845
Status : Answered
Chosen Option : 3

Q.6 Choose the INCORRECTLY spelt word.
Ans X 1.Falcon

75 2. Tailor
X 3. Talon
" 4. Palour

Question ID : 26433084609
Status : Answered
Chosen Option : 4




Q.7 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

They took a while to establish the threat.
Ans  # 1.recognise the threat
< 2. manifest the threat
75 3. negotiate the threat
75 4. move the threat

Question ID : 26433096192
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate ANTONYM of the given word.
Dispel
Ans X 1. Scatter
5 2. Remove
75 3. Disburse
«” 4. Integrate

Question ID : 26433073868
Status : Answered
Chosen Option : 4

Q.9 A part of the given sentence which has been underlined may contain a spelling error.
Select the option that correctly rectifies the spelling error. If there is no error, select
‘No error’.

Some of the islands in the Bay of Bengal are still inaccesible to the scientists.

Ans ¥ 1. Inaccessible
X 2. Inaccesiblle
7% 3. Inacceesible

< 4. No error

Question ID : 26433071788
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate synonym of the given word.
Blunt

Ans X 1.Cheerful

« 2. Dull
/< 3. Valiant

X 4. Sharp

Question ID : 26433084680
Status : Answered
Chosen Option : 4




Q.11 Choose the option that can substitute the underlined segment correctly and complete
the meaning of the sentence.

Meenakshi looks very beautiful in her blue dress.
Ans X 1.Admiring

X 2. Lavish

" 3. Gorgeous

< 4. Lively

Question ID : 26433088880
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The pleasure created by the poet was primarily until his exaggerated descriptions.

Ans X 1. below his exaggerated descriptions

75 2. beside his exaggerated descriptions
75 3. off his exaggerated descriptions

¥ 4. through his exaggerated descriptions

Question ID : 26433089311
Status :

Chosen Option : --

Not Attempted and
Marked For Review

Q.13 Select the most appropriate ANTONYM of the given word.
Arrogant
Ans  # 1. Humble
5 2. Haughty
#5 3. Superior
X 4. Scornful

Question ID : 26433086373
Status : Answered
Chosen Option : 1

Q.14 Fill in the blanks with the correct homophone.
His eyes up with fascination when he saw his idol standing in front of him.
Ans X 1.lye
o 2. lit
X 3.lite
X 4. life

Question ID : 26433089751
Status : Answered
Chosen Option : 2




Q.15 Select the most appropriate idiom for the underlined segment in the given sentence.

Without any question, Naresh is my good friend.
Ans X 1.Agood deal of

/5 2. Care a hang
< 3. Account for
" 4. Beyond a doubt

Question ID : 26433072816
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The automobile industry is one of the (1) industries at the global level. It plays a
crucial role in the development of the global economy because of the high revenues and
increased customer demands. The automobile industry helps to (2) economic
development of the country; therefore, it is widely recognised as a major economic sector.
The automobile industry consists of multiple companies (3) in car manufacturing,
as well as the ones involved in marketing and distribution of automobile products, such as
cars, buses, vans, trucks, motorcycles, mopeds and (4) bicycles. The global
automobile industry incorporates several large car manufacturers’ blocs that work (5)

at the global level.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans X 1.jumping
¥ 2. leading
X 3. shortening

< 4. moving

Question ID : 26433089756
Status : Answered
Chosen Option : 2




Q.17
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The automobile industry is one of the (1) industries at the global level. It plays a
crucial role in the development of the global economy because of the high revenues and
increased customer demands. The automobile industry helps to (2) economic
development of the country; therefore, it is widely recognised as a major economic sector.
The automobile industry consists of multiple companies (3) in car manufacturing,
as well as the ones involved in marketing and distribution of automobile products, such as
cars, buses, vans, trucks, motorcycles, mopeds and (4) bicycles. The global
automobile industry incorporates several large car manufacturers’ blocs that work (5)

at the global level.

SubQuestion No : 17
Select the most appropriate option to fill in blank number 2.

5 1. release
5 2. block
o 3. foster
X 4. arrest

Question ID : 26433089757
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The automobile industry is one of the (1) industries at the global level. It plays a
crucial role in the development of the global economy because of the high revenues and
increased customer demands. The automobile industry helps to (2) economic
development of the country; therefore, it is widely recognised as a major economic sector.
The automobile industry consists of multiple companies (3) in car manufacturing,
as well as the ones involved in marketing and distribution of automobile products, such as
cars, buses, vans, trucks, motorcycles, mopeds and (4) bicycles. The global
automobile industry incorporates several large car manufacturers’ blocs that work (5)

at the global level.

SubQuestion No : 18

Q.18 Select the most appropriate option to fill in blank number 3.

Ans

< 1. unspecialised
¥ 2. specialised
X 3. simplified

< 4. non-simplified

Question ID : 26433089758
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The automobile industry is one of the (1) industries at the global level. It plays a
crucial role in the development of the global economy because of the high revenues and
increased customer demands. The automobile industry helps to (2) economic
development of the country; therefore, it is widely recognised as a major economic sector.
The automobile industry consists of multiple companies (3) in car manufacturing,
as well as the ones involved in marketing and distribution of automobile products, such as
cars, buses, vans, trucks, motorcycles, mopeds and (4) bicycles. The global
automobile industry incorporates several large car manufacturers’ blocs that work (5)

at the global level.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans X 1.fuel-based

«¥ 2. motorised
< 3. non-motorised

X 4. non-fuel

Question ID : 26433089759
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The automobile industry is one of the (1) industries at the global level. It plays a
crucial role in the development of the global economy because of the high revenues and
increased customer demands. The automobile industry helps to (2) economic
development of the country; therefore, it is widely recognised as a major economic sector.
The automobile industry consists of multiple companies (3) in car manufacturing,
as well as the ones involved in marketing and distribution of automobile products, such as
cars, buses, vans, trucks, motorcycles, mopeds and (4) bicycles. The global
automobile industry incorporates several large car manufacturers’ blocs that work (5)

at the global level.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans X 1. hurriedly

< 2. smoothly
«# 3. collaboratively
X 4. single-handedly

Question ID : 26433089760
Status : Answered
Chosen Option : 3

Section : Part-D-Hindi




Q.1 g Uy A I 91|
IR a1 § I@ifhd UG P Tat fad eg &1 994 Ay fipe & § Fifvm|

Ans X 1.qHF
« 2.9
X 3. 30T
X 4.2UM

Question ID : 26433079642
Status : Not Answered
Chosen Option : --

Q.2 I ¥ e arde Al e o1 999 SRl
PR SGRARyw A

Ans X' 1 BRI
X 2. 7Hrit
X 3R
o 4. RIS

Question ID : 26433066926
Status : Not Answered
Chosen Option : --

Q.3 T ) Wl Hel ar ITD! BT HH T8l glal I’
W & AT A IR a1 | o I 31 gid s

Ans X 1.8R®
X 2. 31yd
X 3.em
o 4. DT

Question ID : 26433084984
Status : Not Answered
Chosen Option : --

Q4 IFA HHET TR gHA T TR 39 IR F D AT Ueg IS 82
Ans X 1. gl

X 2.9

X 3 W

o 4.1 H

Question ID : 26433091309
Status : Not Answered
Chosen Option : --




Q.5 59 |l A T fran $o7 39 919 | S W1 g UG 22
Ans X 1.3
X 2.
X 3. ®m

499

Question ID : 26433091305
Status : Not Answered
Chosen Option : --

Q.6 g arri & g T WEt Weg &1 9u fawedl 7 9 Fifv@)
TP A Y I qrar

Ans X 1. Rdlldhd
X 2. gqafeH
X 3. URdlfdh®
o 4. IR ®

Question ID : 26433070095
Status : Not Answered
Chosen Option : --

Q.7 G B IO - AT TS & T IuY Weg T 12
Ans X 1. Tifdg

X 2.9a

X 3. afad

o 4. IR

Question ID : 26433063058
Status : Not Answered
Chosen Option : --

Q.8 fafafed o d Y@ifed TS & ®IM W YT g4 a1 999 SugT faded &1 99+

Biferg|
wSd = ux Rt

Ans X 1. forars
o 2. foran
X 3. feraan
X 4 foag

Question ID : 26433079565
Status : Not Answered
Chosen Option : --




Q9 TN BT AT YgTa¥ o7 Iet 3 3 -
Ans 1. B B &

X 2. {5t & Iy o AT

X 3.9 Ple o

2 4. 919 G

Question ID : 26433065922
Status : Not Answered
Chosen Option : --

Q.10 fgfafad ger & 3fua o &1 9a= Fiie-
ggl ggrHT

Ans o 1 GHI™
X 2.91C SAA
X 3. UgTE FHRaMl
X 4. 9gd TS Sl

Question ID : 26433065889
Status : Not Answered
Chosen Option : --

Q11 fPufafea d @ o a1 i @ 591 v v 2reg 22
Ans X 1 T[T

X 2.3
X 3. U

o 4.7SIR

Question ID : 26433085055
Status : Not Answered
Chosen Option : --

Q.12 el & A «3ifer 1 waigarh gae A area gof Fifvm|
PAW___ TFEEIR]
Ans X199

X 2. 3
o 34T
X 4. BT

Question ID : 26433063087
Status : Not Answered
Chosen Option : --




Q.13 Sfiq9 H ST o1 3§ A1
IR T § I@iThd UG P Ta! fAdH Weg BT 794 Y fApedl # § S|

Ans X 1. faqag
o 2. FeaE
X 3.3’
X 4.99®

Question ID : 26433079741
Status : Not Answered
Chosen Option : --

Q.14 frmfafed e & 3 TR A AHR 3id IF° TR & FIY ue ard® <reg T ghm 2
Ans g 1. 3O

X 2. 3ufag

X 3. U=

X 4. FReR

Question ID : 26433062469
Status : Not Answered
Chosen Option : --

Q.15 g § & 919 91 e RiFaes Far-RRvo 1 Igrevo 78 82
Ans X 1 iR

o 2.9

X 3.9

X 4. IR

Question ID : 26433079229
Status : Not Answered
Chosen Option : --




Q.16

Ans

Comprehension:

I e T Uy W1 1 U 5 P IR [ TR B SR WR G

IR gRaR # gedft R &) Sita o1 sifKica g1 9eft Iofial (A &R Sig) & IuToerit framd (diwor,
SRR ), SMHR T 1. , TR & fafid oM o go-ag, BT HRA @Y e aul
LA & Ul Tag1 gicht 81 3fg &1 fa=omafy 3 uyrd Tt e qut Sig S IR 3o St &
Hafd IO d 1 ql B qut Sigett Bt FiFd 2. Bl 8, g dis ol < U1 AT oig
T FHM 81 81d ¢ | Ut faf¥erad 3. &b FHY IO Bl § T faera & e
A 4. 7 €1 Toilla o & faderon $reH & SRur g fafie Sifaw fsart gva g
TS & fafts TR § Sufdes, SR, SHaeiy, sirds, afy, Tafd (S 6e), T4,
uTRfRRfes o Td Sfid HSer| A6 b 37 A1 WRI b 3feld 5. & U1 bad BB
TR R fEErE 3d € qu Sharsa F o 76t o | SIS it S1eR SR SMHfa 3 g Tdbdt
21 P Sid THaIRD EId 8, STl $O Sgaie Bid &1 Ul BIRDT B T A 3MPHR
el & a1 IuH faf¥s Bl & Y efe BIRMBIT BId ¢ | 39 TSR DI bt 4t Sfta 1
THE ¢ AR Wit BRI vgat & Pftfa HifkreT 3 e R gidt €

SubQuestion No : 16
o w1 & fore waifte Suged Teg 398 & /1 g2
X 1.9

X 2.3
& 3.9

X 4.Rd

Question ID : 26433070121

Status : Not Answered

Chosen Option : --

Comprehension:

el g8 U Uy AT 1 W 5 % IR Y IR O YR WR S|

IR uRar & gedt W gt Sfia &1 sifa 71 it gofial (a1 &R Sig) & Suroedt feard (dror,
T Td ITo), STHR H 1. , TRR & f3fve STt & gr-a, ST A P &HdT auT
LA & U Tdg1 it 81 afeg &1 fa=wTafy 3 vyrd Tt el quT Sig S IR S ot &t
Hafd I $d &1 qHl dY quT Siget Bt Fidd 2. &Il 8, Tg s il < U1e A1 oig
T& 99 a1 gid ¢ | U faftrermd 3. & I S el § aul [EEASEARY
R 4. Il €1 Toia o & faderon 96 & HRuT g fafie Sifae fsart dva g
e & Al TR § 3, SIRIed, Sdeiy, Sidd, Sy, Tafd (e, 4,
uiRfRfie 7 Td Sia HSe | W6 & 37 71 Wl & SfeRia 5. & 01 HId IRIBIA
TR R fearg A € quT Siarsd F 3R T S | IR [ SMHR 3R 3Mpia 3 8l qahet
%1 $o oia WIS T 8, Tl Ho TgH RIS T ¢ | T BRG] BT T M3 AR
el & 1 IuH faf¥s Bl & Y efe BIRMBIT BId ¢ | 39 DR Dficp bl +ff Sfta bt
3HTs ¢ R It FIR@IE vgd ¥ Ffif ST ¥ fGeRia g &1

SubQuestion No : 17

Q.17 T I 2 ¥ e waiiie Suged T 399 & &1 81m?

Ans

X 1. oo
o 2. 3Pfd

X 3. 3MHR
X 4. fawR

Question ID : 26433070122

Status : Not Answered

Chosen Option : --




Comprehension:

el g U Uy AT 1 W 5 b IR Y IR O YR WR S|

IR uRar & gedt W gt Sfia &1 3ifa 71 it gofial (a1 ok Sig) & Suruedt feard (drr,
T Td Io), SHR H 1. , TR & fafve St & G-, BT B B &HdT auT
LA & Uf Tag1 it 81 afeg &1 fa=omafy 3 uyrd ot Il qut Sig S99 IR S ot &t
Hafd I $d &1 qHl DY quT Siget Bt Fid 2. &Il 8, Tg P ol < U1 AT oig
Teb A T Bid ¢ | U fafderamy 3. & FH S Bl © T oifd [T & ferg
A 4. Il €1 Toilla o & faderon $reH & SRur g fafie Sifae fsart gva g
TS & fafts TR § SMuifdess, SR, SHasiy, sirds, afy, Tafd (S ee), 94,
uTRfRfes o Td Sftd Hser | A6 b 37 A1 WRI b 3feld 5. & 01 Al DIRBIT
TR R fearg <A € quT Siarsa I SR e S | IR AT PR 3R 3Mpia 3 &l Tahet
%1 5o ofid WIS T 8, Sl Po TgHIRID T 8| T BT BT T M3 AR
&I & Y1 IH ¥t braf o foTg af-eb pIRchiT Bl & 39 UebR ebifRrepl ot off wiia b
3HT ¢ R Tt HISIE vgd ¥ Ffifa ST ¥ fawRia gt 1

SubQuestion No : 18
Q.18 fYed &M 3 & forg gaifire Iugad 2eg 30 & w1 §m?
Ans X 1. TdN

o 2. S
X 3. S

X 4799

Question ID : 26433070123
Status : Not Answered
Chosen Option : --

Comprehension:

e IR T Uy AT 1 W 5 P IR [ TR B SR W Giforg|

IR uRar & gedt W gt Sfia &1 3ifa 71 it gofial (e &R Sig) & Suroedt feard (dror,
9T Td IoH), SHTHR H 1. , TRR & f3fe 3t § gr-ag, Sl B B &HdT auT
TEIT & U g g1t 81 gfg o1 faRiorafdy & urd el de qut oig o gRT 3o ot €t
Hafd I $d &1 FHl dY qu Siget @t FiFd 2. &Il &, Tg s +f < U1e a1 oig
T 99 81 gid ¢ | Ut faftrernd 3. & Y S Bl § AUl [EEASEARY
TS 4. I €1 Toild o & faaeior 916 & SRl g fafie Sifae fsart dva g
e & Al TR § S, SIS, Sdeiy, S, Sy, TafY (S, 4,
RIS o Td Sfia Hsa | 16 & 3 A T & Sfavid 5. & U1 bad BB
TR R fearg oA € quT Siarsd F 3R T S | HIRIBTE [ SMHR 3R SMpfa 3 8 waheit
21 $B S UTHHIRE 81 8, el $O TgHIAD Bl & | YD BIIRADT BT U (12T HR
i & a1 IuH fafi @l & fIT sHe SIS 81 ¢ | 39 SR S el +ft Sfia 3t
THIE 8 AR Wit FIRE ugat & Fftfa HifkieT I fowRd g €1

SubQuestion No : 19
Q.19 f¥qa R 4 & e waifire Iuged Weg 378 1 FaT ghM?
Ans X' 1. 3HR

* 2.
X 3.UPR

o 4. 3R

Question ID : 26433070124
Status : Not Answered
Chosen Option : --




Comprehension:

I U T Uy AT 1 9 5 D IR Y TR B SHYR W G

IR IRaR # gedft R &) Sita &1 eifKica g1 it Tofal (A &R Siq) & IuToerit framd (diwor,
CRENeC) ), THRH 1. , SRR & fafe 3T o gH-ag, BT HRA B eFar aul
LA & Ul Tag1 gicht 81 3fg o1 fa=wmafy 3 uyrd wt e qut Sig S IR 3o St &
Hafd I d 1 qHl B qut Sigett Bt Fiyd 2. Bl 8, Tig ®is o T dIg AT Sig
T FHM 81 81d ¢ | U faf¥srand 3. &b FHY IO BIdl § T faera & e
T 4. Il €1 Toita & & fadern $reH & SRur g fafte Sifaw fsart gva g
TS & fafts TR § ouifds, SR, SHaeiy, sirds, afy, Tafd (S Ee), T4,
uTRIRfe 1 Td Sfid HSer| A6 & 37 A1 WRI b 3feld 5. & U1 pad BB
TR W fEErs 3d € qu harsa J o 76} o | SIS it S1eR SR SMHfa 3 g Tabdt
? 1 P© N THHIRF BN &, Ta(P $B TgHIAB 8Id & | TAD BHIIABT BT Th (3T 3MHR
el & a1 I8 faf¥rs BTl & Y efe BIRMBIT 8Id ¢ | 39 TSR DI bt 4t Sfta Bt
THE ¢ AR Wit BRI veat & Fftfa HifkreT 3 fowmRd gt ¥

SubQuestion No : 20

Q.20 fYad ®IT 5 & Y Haifie Suged Weg 378 A F1 12

Ans

X 1. oo
X 2. WO
o 3. Sila
X 4.5a

Question ID : 26433070125
Status : Not Answered
Chosen Option : --
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